## Bid # Y202766 Results

			ANIXTER			C	ONESOURCE			WESCO		
QUANTITY	ORDER UNIT	PART DESCRIPTION	UNIT PRICE/EA	TOTAL PRICE	LEAD TIME	UNIT PRICE/EA	TOTAL PRICE	LEAD TIME	UNIT PRICE/EA	TOTAL PRICE	LEAD TIME	
500	EA	BONDING CLIP, 7/8", GALV., WITH SR.NUT	\$1.45	\$725.00	6-8 WEEKS	\$1.48	\$740.00	6-8 weeks	\$3.33	\$1,666.67	5 weeks	
240	EA	SIGN, "HIGH VOLTAGE", HDPE WITH UV INHIBITORS, YELLOW (20 MILS) ON BLACK (55 MILS), 75 MILS THICK, 3-1/2" X 14" OVERALL DIMENSION, ROUNDED CORNERS, 40 MIL DEEP LETTERING, ENGRAVED 3" HIGH AND 3/16" THICK	\$2.54	\$609.60	2-4 WEEKS	\$2.95	\$708.00	4 weeks	\$2.60	\$624.00	2 weeks	
42		CONNECTOR, COMPRESSION, FULL TENSION, LENGTH = 18", 954 MCM AAC, 37 OR 61 STRAND, PREFILLED PENETROX, ALUM	\$74.76	\$3,139.92	10-12 WEEKS	\$81.00	\$3,402.00		\$72.48	\$3,044.16	3 weeks	
400	EA	CONNECTOR, GROUND, FIG "C", COMPRESSION TYPE, #6-#2 TO #6-#2 PARALLEL GROOVE HYTAP, PREFILLED WITH PENETROX AND STRIP SEALED	\$3.75	\$1,500.00	1-2 WEEKS	\$4.15	\$1,660.00		\$3.74	\$1,496.00	3 weeks	
200	EA	CONNECTOR, COMPRESSION, NON-TENSION JUMPER, LENGTH 10", 795-1000 MCM AAC, PREFILLED PENETROX, ALUM	\$24.67	\$4,934.00	10 WEEKS	\$27.00	\$5,400.00	8-10 weeks	\$46.22	\$9,244.00	4 weeks	
48	EA	CONNECTOR, COMPRESSION, FULL TENSION, LENGTH = 10", 336.4 MCM AAC, 19 OR 37 STRAND, PREFILLED PENETROX, ALUM	\$10.16	\$487.68	6-8 WEEKS	\$11.00	\$528.00	8-10 weeks	\$11.19	\$537.12	3 weeks	
250	EA	CONNECTOR, COMPRESSION, NON-TENSION JUMPER, LENGTH 4.5", 336.4 MCM AAC, PREFILLED PENETROX, ALUM	\$5.43		3-4 WEEKS	\$6.00		6-8 weeks	\$5.34	\$1,335.00		
1500		STAPLE, ZINC PLATED, 3" X 1 1/16" X 1/4", NO CEMENT COATING	\$0.41	\$615.00	6-8 WEEKS	\$0.45	\$675.00	4-6 weeks	\$0.53	\$793.50	2 weeks	
160		CADWELD, EXOTHERMIC, CABLE TO GROUND ROD, 4/0 CU (STRANDED) TO 5/8" GROUND ROD, WELD MAT'L "90" (SEE NOTE 2)	\$78.58	\$12,572.80	2-3 WEEKS	\$85.00	\$13,600.00	2-3 weeks	\$83.12	\$13,299.20	3-4 weeks	
180	EA	CADWELD, EXOTHERMIC, CABLE TO GROUND ROD, #4 CU (SOLID) TO 5/8" GROUND ROD, WELD MAT'L "65" (SEE NOTE 2)	\$78.58	\$14,144.40	2-3 WEEKS	\$85.00	\$15,300.00	2-3 weeks	\$83.12	\$14,961.60	4-5 weeks	
150		CONNECTOR, COPPER, STEEL, STR GROUND, SINGLE WIRE #1-4/0, 5/8" THREAD	\$48.87		4-6 WEEKS	\$52.85		4-6 weeks	\$49.10	\$7,365.00		
400		CONNECTOR, COPPER, STEEL, STR GROUND, SINGLE WIRE #2-1/0, 1/2" THREAD	\$36.45	\$14,580.00		\$39.50	\$15,800.00		\$44.01	\$17,604.00		
80	EA	CONNECTOR, GROUND, MECHANICAL, BRONZE, 2/0-200MCM WIRE (x3) TO 1-1/2 O.D. TUBE (#11 REBAR)	\$39.32	\$3,145.60	4-6 WEEKS	\$42.75	\$3,420.00	4-6 weeks	\$43.80	\$3,503.82	5-6 weeks	
80	EA	CONNECTOR, GROUND, MECHANICAL, BRONZE, 2/0-200MCM WIRE (x3) TO 2-1/2 O.D. TUBE (#18J REBAR)	\$31.73	\$2,538.40	6-8 WEEKS	\$34.50	\$2,760.00	6-8 weeks	\$32.82		6-8 weeks	
66	EA	CLEVIS-EYE, 5/8" WIDTH, , 3-3/8" LENGTH, 7/8" THROAT, 5/8" PIN, 30K ULT., GALV	\$16.79		6-8 WEEKS	\$17.50		3-5 weeks	\$17.16	\$1,132.56		
1000	EA	WASHER, LOCK, SINGLE SPLIT SPRING, 3/4" GALV.	\$0.22	\$220.00	2-4 WEEKS	\$0.26	\$260.00		\$0.23		2 weeks	
120		EYENUT, OVAL, 5/8" BOLT, 7/8" THREAD SEAT	\$1.88	1 1 1 1 1 1	2-4 WEEKS	\$2.10	\$252.00		\$2.47		1 week	
290		WASHER, LOCK, 5/8", SINGLE SPLIT, GALV.	\$0.10		2-4 WEEKS	\$0.12	\$34.80		\$0.86		2 weeks	
400		WASHER, FLAT, ROUND, FOR 5/8" BOLT, GALV.	\$0.17		2-4 WEEKS	\$0.25	\$100.00		\$0.21		2-3 weeks	
400		NUT, 5/8", SQUARE, GALV	\$0.27	\$108.00	2-4 WEEKS	\$0.32	\$128.00	stock	\$0.29	\$114.40	2-3 weeks	
160	EA	PIN, LONG SHANK, 5/8"X6.5", FORGED STEEL, GALV, 1" NYLON ALLOY THREAD, ANSI CLASS 55-6, W/ SQ. NUT AND LOCKWASHER	\$4.54	\$728.22	9-11 WEEKS	\$5.50	\$882.20	stock	\$5.61	\$899.84	6 weeks	
675	EA	PIN, SHORT SHANK, 3/4"X1.75", FORGED STEEL, GALV, 1" NYLON ALLOY THREAD, ANSI CLASS 55-6, W/ SQ. NUT AND LOCKWASHER	\$9.76		14-16 WEEKS	\$10.56		12-14 weeks	400.00	\$0.00		
140		BRACE, DOUBLE SPAN, 60" X 18" DROP, 1-1/2" X 1-1/2 X 3/16" ANGLE SIZE	\$25.06		2-4 WEEKS	\$23.00	\$3,220.00		\$22.26	\$3,116.40		
215		WASHER, CURVED 3" X 3", SQUARE, 1/4" THICK, 3/4" HOLE GALV.	\$0.77 \$0.17		7-9 WEEKS 2-4 WEEKS	\$1.25 \$0.20	\$268.75 \$52.00		\$0.81 \$0.21		2 weeks	
260 25	EA	WASHER, LOCK, 5/8", DOUBLE COIL SPRING, GALV. WEIGHT, 50-LB, BOLTED CLAMSHELL, 7" DIAM, 7.9" LONG, ZINC, BORED FOR 1.624" O.D. LINEGUARD OVER CONDUCTOR	\$0.17		4-6 WEEKS	\$372.00		3-5 weeks	\$0.21	\$55.38	z weeks	
720	EA	INSULATOR, TOP GROOVE, 13.2 KV, GRAY PORCELAIN, F/NECK ANSI 55-4	\$3.02	1. 7	2-4 WEEKS	\$4.00	\$2,880.00		\$3.88	7	4-6 weeks	
1500		NAIL, CONCRETE 9G, 5/16" X 2", CORE HARDENED 1ST QUALITY	\$0.04	1.7	1 WEEK	00.4€		1-2 weeks	٥٥.٥٥		1 week	
8800		WIRE, #4 CU. SOLID BARE, SOFT DRAWN, 200 FT / REEL	\$0.48	\$4,231.92		\$0.51	\$4,488.00			\$0.00	)	
1900		WIRE, 4/0 CU, 19-STRAND BARE, SOFT DRAWN, 500 FT / REEL.	\$2.32	\$4,408.00		\$2.65	\$5,035.00			\$0.00	)	
300		WASHER, FLAT ROUND, FOR 1/2" BOLT, GALV.	\$0.10	1 / 1 - 1 - 1	2-4 WEEKS	\$0.07	\$21.00			\$0.00	)	
632		WASHER, LOCK, 1/2", SILICON, BRONZE	\$0.43	\$271.76		\$0.34	\$214.88		1	\$0.00	)	
1500		WIRE, #2 STRANDED COPPER, THHN, 19 STR, BLACK, 500 FT.	\$0.84	\$1,260.00		\$0.92	\$1,380.00	stock		\$0.00	)	
1500		WIRE, 4/0A TRIPLEX, CODENAME "CEREPUS", TWO-PHASE 19-STRAND, W/ POLY INSULATION, BARE ACSR NEUTRAL MESSENGER 6/1 STRANDING, RATED STRENGTH = 5,310LB	\$1.42	\$2.124.00	4-6 WEEKS	\$1.70	\$2.550.00	factory stock sold in 1000' reels	\$1.56	\$2.336.32	14 weeks	
31000	ET	WIRE, 1/0A TRIPLEX, CODENAME "JANTHINA", TWO-PHASE 7-STRAND, W/POLY INSULATION, BARE ACSR NEUTRAL MESSENGER 6/1 STRANDING, RATED STRENGTH = 2,8534		\$22,577.30		\$0.87	. ,	factory stock- sold in 1200' reels	\$0.79	\$24,428.70		
OTAL1			\$126,731.18			ψ0.07	\$139.676.02			\$114.094.54		
Tax (8.75%)				\$126,731.18 \$11.088.98			\$139,676.02 \$12.221.65			\$114,094.54 \$9.983.27		
TOTAL				\$11,088.98 \$137,820.16			\$12,221.65 <b>\$151,897.67</b>			\$124.077.81		

## Bid # Y202978 Results

			ANIXTER			ONESOURCE			WESCO			
QUANTITY	ORDER UNIT	PART DESCRIPTION	UNIT PRICE/EA	TOTAL PRICE	LEAD TIME	UNIT PRICE/EA	TOTAL PRICE	LEAD TIME	UNIT PRICE/EA	TOTAL PRICE	LEAD TIME	
170000	FT	WIRE, 954 MCM AAC, BARE 1.124" DIAM, 0.894LB/FT, 37-STRAND "MAGNOLIA", 8,000FT ON WOOD REELS	\$1.57	\$266,560.00	9-11 WEEKS	\$1.48	\$251,600.00	10-14 weeks	\$1.55	\$263,500.00	3 weeks	
2000	EA	WASHER, FLAT, ROUND, FOR 3/4" BOLT, GALV.	\$0.36	\$720.00	22 WEEKS	\$1.86	\$3,720.00	stock		\$0.00		
1000	EA	BOLT, MACHINE, 3/4" X 3", 1-3/4" THREAD LENGTH, SQUARE HEAD WITH SQUARE NUT	\$3.00	\$3,000.00	2-4 WEEKS	\$2.18	\$2,180.00	6-8 weeks	\$2.34	\$2,340.43	2 weeks	
60	EA	BOLT, MACHINE, 7/8" X 16", SQUARE HEAD WITH NUT, GALV	\$9.34	\$560.40	6-8 WEEKS	\$9.25	\$555.00	6-8 weeks	\$11.24	\$674.40	7-8 weeks	
60	EA	BOLT, MACHINE, 7/8" X 18", SQUARE HEAD WITH NUT, GALV	\$10.12		6-8 WEEKS	\$9.65		6-8 weeks	\$12.63		2-3 weeks	
35	EA	BOLT, MACHINE, 7/8" X 20", SQUARE HEAD WITH NUT, GALV	\$10.91		6-8 WEEKS	\$10.45		6-8 weeks	\$10.74		2-3 weeks	
15	EA	BOLT, MACHINE, 7/8" X 22", SQUARE HEAD WITH NUT, GALV	\$11.69		6-8 WEEKS	\$11.20		6-8 weeks	\$14.88		2-3 weeks	
25	EA	BOLT, MACHINE, 7/8" X 26", SQUARE HEAD WITH NUT, GALV	\$13.27	\$331.75	6-8 WEEKS	\$13.00	\$325.00	6-8 weeks	\$20.73	\$518.25	5-6 weeks	
5	EA	ELBOW, FIBERGLASS, 2", 90 DEGREE, 84" RAD, COMPLETE WITH (2) "DEEP SOCKET" PVC COUPLINGS, HEAVY WALL	\$68.75	\$343.75	2-4 WEEKS	\$66.25	\$331.25	2-3 weeks		\$0.00		
17	EA	ELBOW, FIBERGLASS, 6", 90 DEGREE, 84" RAD, COMPLETE WITH (2) "DEEP SOCKET" PVC COUPLINGS, HEAVY WALL	\$162.46		2-4 WEEKS	\$156.00		2-3 weeks		\$0.00		
2	EA	ELBOW, FIBERGLASS, 2", STRAIGHT, STANDARD WALL, INTERFERENCE JOINT, 20FT LENGTHS	3.14/FT		2-4 WEEKS	\$60.60		2-3 weeks	\$2.98		2 weeks	
5	EA	ELBOW, FIBERGLASS, 6", STRAIGHT, STANDARD WALL, INTERFERENCE JOINT, 20FT LENGTHS	9.88/FT		2-4 WEEKS	\$9.50		2-3 weeks	\$9.37		2 weeks	
325	EA	GROUND ROD, COPPER, 5/8" X 8'	\$12.45		2-3 WEEKS	\$10.15	\$3,298.75		\$12.28	\$3,991.00		
1115	EA	WASHER, 7/8" BOLT, 2" OD, 1/4" THICK, HOLE SIZE 15/16"	\$1.14		6-8 WEEKS	\$1.17		6-8 weeks	\$1.81	\$2,019.39		
150	EA	WASHER, SQ. CURVED, 7/8" BOLT, 4" X 4", 1/4" THICK, GALV.	\$2.96		6-8 WEEKS	\$3.00		6-8 weeks	\$1.38	\$206.83		
1000	EA	WASHER, LOCK, DOUBLE SPLIT, BOLT DIAMETER 7/8", 1/4" THICK	\$1.09 \$0.65		6-8 WEEKS	\$1.12 \$0.67		6-8 weeks	\$1.31 \$2.50		6-8 weeks 6-8 weeks	
614	EA EA	NUT, 7/8", SQUARE,GALV.	\$0.65		6-8 WEEKS 6-8 WEEKS	\$0.67		6-8 weeks	\$2.50 \$14.32	, ,	6-8 weeks 4-5 weeks	
60 130	EA	BOLT, DOUBLE ARMING, 7/8" X 18" FULL THREADED., SQ. HEAD W/ FOUR SQ. NUT, GALV BOLT, DOUBLE ARMING, 7/8" X 20" FULL THREADED., SQ. HEAD W/ FOUR SQ. NUT, GALV	\$11.41		6-8 WEEKS	\$11.00		6-8 weeks	\$14.32	\$1.648.40		
130		BOLT, DOUBLE ARMING, 7/8" X 20" FOLL THREADED., SQ. HEAD W/ FOUR SQ. NOT, GALV  BOLT, DOUBLE ARMING, 7/8" X 22" FULL THREADED., SQ. HEAD W/ FOUR SQ. NUT, GALV	\$12.99	, , ,	6-8 WEEKS	\$12.45	1 / 1 - 1 - 1	6-8 weeks	\$12.66	\$1,767.45		
130	EA	BOLT, DOUBLE ARMING, 7/8 X 22 FOLL THREADED., SQ. HEAD W/ FOUR SQ. NOT, GALV  BOLT, DOUBLE ARMING, 7/8" X 24" FULL THREADED., SQ. HEAD W/ FOUR SQ. NUT, GALV	\$15.43		6-8 WEEKS	\$13.23		6-8 weeks	\$13.71		4-5 weeks	
30	EA	BOLT, DOUBLE ARMING, 7/8 X 24 FOLL THREADED., SQ. HEAD W/ FOUR SQ. NOT, GALV  BOLT, DOUBLE ARMING, 7/8" X 28" FULL THREADED., SQ. HEAD W/ FOUR SQ. NUT, GALV	\$13.43		6-8 WEEKS	\$16.75		6-8 weeks	\$15.71	. ,	4-5 weeks	
20	EA	LINKS, BENT, 3/8"x3"x9-1/2", 45KIP RATING PER PAIR, GALV.	\$10.13		6-8 WEEKS	\$9.70		6-8 weeks	\$11.66		6-8 weeks	
6	EA	POLE BAND, 4-WAY, MEDIUM DUTY, 9-12" DIAM. FITS ANSI CLASS H1 TO H4 D.F.	\$83.41		6-8 WEEKS	\$79.65		6-8 weeks	\$96.04		6-8 weeks	
6	EA	POLE BAND, 4-WAY, MEDIUM DUTY, 11-14" DIAM. FITS ANSI CLASS H4 TO H6 D.F.	\$88.79		6-8 WEEKS	\$84.75		6-8 weeks	\$102.23		6-8 weeks	
140	EA	GAIN PLATE, 4" X 4", 1-1/4" HOLE, DUCTILE IRON	\$7.30		6-8 WEEKS	\$6.99		6-8 weeks	\$8.40		6-8 weeks	
685	EA	CLAMP TOP, TRUNNION, FOR 954 ACSR, HORIZONTAL OR VERTICAL INSULATORS, CONDUCTOR DIAMETER 1.0" - 1.50	\$34.66	\$23,742.10		\$8.50	\$5,822.50		\$32.88	\$22,522.80		
374	EA	CLAMP, QUADRANT DEADEND, FOR 954 ACSR, RANGE .70" TO 1.20", 5-5/8" U-BOLTS, 3/4" PIN AND COTTER, 30K ULT., ALUM.	\$139.20	\$52,060.80		\$76.50	\$28,611.00		\$132.02	\$49,375.48		
700	EA	COTTEN, 30K GET., ALGM. CLAMP, INSULATOR, TIE TOP WIRE, SIZE .2580, INSULATOR NECK SIZE 2.50 - 3.00, FOR #2 - 336.4 IACSR	\$41.97		8-10 WEEKS	\$42.90		8-10 weeks	\$39.80	\$27,860.00		
63	EA	CLAMP, SUSPENSION, RANGE 1.0", 1.82" OPENING, 5/8" PIN AND COTTER, 25K ULT. ALUM, INCL										
		CLEVIS-EYE	\$70.22		10 WEEKS	\$35.50		7-9 weeks	\$66.60		10 weeks	
420	EA	CLEVIS-EYE, ROTATED 90DEG (FIG 2), 3-1/8" LONG, 1/2" THROAT, 5/8" PIN, 30K ULT, GALV.	\$17.84	\$7,492.80	1-3 WEEKS	\$18.20	\$7,644.00	2-4 weeks	\$16.92	\$7,105.36	10 weeks	
450	EA	INSULATOR, HORIZONTAL LINE POST, 115 KV, SILICONE RUBBER, WOOD POLE MOUNT, CAST GAIN BASE, TRUNNION FITTING	\$233.58	\$105,111.00		\$230.00	\$103,500.00		\$219.17	\$98,626.50		
420		CLAMP, HOT LINE DEADEND, FOR 1/0-336.4 ACSR, NATIONAL TYPE	\$9.17	1-,	2-4 WEEKS	\$10.00		6-8 weeks	\$17.13	\$7,194.60		
460	EA	SHACKLE, ANCHOR, 7/8" OPENING, 2-3/4" LONG, 5/8" PIN & COTTER, 30K ULT. GALV.	\$5.74	\$2,640.40	2-4 WEEKS	\$7.00	\$3,220.00	stock	\$6.57	\$3,022.20	1 week	
240	EA	INSULATOR, HORIZONTAL LINE POST, 115 KV, SILICONE RUBBER, STEEL POLE MOUNT, FLAT 4 HOLE BASE, TRUNNION FITTING.	\$244.80	\$58,752.00	8-10 WEEKS	\$240.00	\$57,600.00		\$222.60	\$53,424.00	8 weeks	
440	EA	INSULATOR, SUSPENSION/DEADEND, 115 KV, SILICONE RUBBER, Y CLEVIS - TONGUE, SML = 25k, 17 SHED.	\$95.08	\$41,835.20	8-10 WEEKS	\$83.00	\$36,520.00	6-8 weeks	\$219.17	\$96,434.80	8 weeks	
440	EA	INSULATOR, DEAD END 15 KV W/HUMP BACK COTTER PINNED CLEVIS PIN. SILICONE	\$10.58		4-6 WEEKS	\$10.50	\$4,620.00	stock	\$13.24	\$5,825.60	1 week	
100	EA	CLAMP, HOT LINE DEADEND, FOR #6-1/0 ACSR, NATIONAL TYPE	\$6.93	\$693.00	3-5 WEEKS	\$7.50	\$750.00	9-11 weeks	\$7.54	\$754.00	2-3 weeks	
400	EA	Y-CLEVIS-EYE, 90 DEG ENDS, 3/4" PIN, 19K ULT., GALV	\$18.63		12-14 WEEKS	\$25.60		7-9 weeks	\$40.40	\$16,161.70		
100	EA	MOULDING, GROUND, 1/2", UNPAINTED FIR, 8' LENGTH	\$11.41	\$1,141.00	4-5 WEEKS	\$7.92	\$792.00	stock	\$13.90	\$1,390.00	3-4 weeks	
TOTAL1	TOTAL1			\$635,996.73			\$573,595.38			\$680,640.93		
Tax (8.75%)	Tax (8.75%)			\$55,649.71			\$50,189.60			\$59,556.08		
TOTAL				\$691,646.44			<u>\$623,784.98</u>			\$740,197.01		

## Bid # Y203347 Results

		ANIXTER		ONESOURCE			WESCO				
QUANTITY	ORDER UNIT	PART DESCRIPTION	UNIT PRICE/EA	TOTAL PRICE	LEAD TIME	UNIT PRICE/EA	TOTAL PRICE	LEAD TIME	UNIT PRICE/EA	TOTAL PRICE	LEAD TIME
60	EA	BOLT, MACHINE, 5/8" X 20", SQUARE HEAD WITH NUT, GALV	\$7.66	\$459.60	6-8 WEEKS	\$7.30	\$438.00	6-8 weeks	\$3.71	\$222.60	1 week
90	EA	BOLT, MACHINE, 5/8" X 22", SQUARE HEAD WITH NUT, GALV	\$8.15	\$733.50	6-8 WEEKS	\$7.80	\$702.00	6-8 weeks	\$4.04	\$363.60	1 week
90	EA	BOLT, MACHINE, 5/8" X 24", SQUARE HEAD WITH NUT, GALV	\$8.64	\$777.60	6-8 WEEKS	\$8.25	\$742.50	6-8 weeks	\$5.50	\$495.00	1 week
40	EA	BOLT, MACHINE, 5/8" X 28", SQUARE HEAD WITH NUT, GALV	\$9.63	\$385.20	6-8 WEEKS	\$9.20	·	6-8 weeks	\$7.19	\$287.60	2 weeks
25	EA	BOLT, DOUBLE ARMING, 5/8" X 30", FULL THREAD W/ FOUR SQUARE NUT, GALV	\$9.90		6-8 WEEKS	\$9.50		6-8 weeks	\$5.08	\$127.00	1 week
25		BOLT, DOUBLE ARMING, 5/8" X 32", FULL THREAD W/ FOUR SQUARE NUT, GALV	\$10.46		6-8 WEEKS	\$10.00	\$250.00	6-8 weeks	\$5.79	\$144.75	
25	EA	BOLT, DOUBLE ARMING, 5/8" X 34", FULL THREAD W/ FOUR SQUARE NUT, GALV	\$11.00		6-8 WEEKS	\$10.55		6-8 weeks	\$10.86		6-8 weeks
20	EA	BOLT, DOUBLE ARMING, 5/8" X 38", FULL THREAD W/ FOUR SQUARE NUT, GALV	\$10.87		6-8 WEEKS	\$16.70		6-8 weeks	\$11.53	\$230.60	
260	EA	BOLT, MACHINE, 1/2" X 6", SQUARE HEAD WITH SQUARE NUT GALV.	\$0.90	\$234.00	2-4 WEEKS	\$1.10	\$286.00	stock	\$0.71	\$185.64	2 weeks
75	EA	LINEGUARD, ALUM, 0.25" ROD DIAM, 49" LONG, 15RODS/SET, 1.099-1.153" WIRE DIAM RANGE	\$25.42	\$1,906.50	4-6 WEEKS	\$27.50	\$2,062.50	factory stock	\$24.88	\$1,866.22	1 week
140	EA	CROSSARM, 10' REGULAR, 4 3/4" X 3 3/4", PENTA TREATED, PRE-DRILLED PER CO-129	\$63.05	\$8,827.00	4-6 WEEKS	\$68.25	\$9,555.00	4-6 weeks	\$61.70	\$8,638.00	4 weeks
140	EA	CONDUIT, 1", PVC, SCH. 80, IN 10 FT. LENGTH	.45/FT	\$630.00	1-2 WEEKS	\$4.90	\$686.00	stock	\$0.51		1 week
300	EA	COUPLING, PVC, 1", FOR PVC ELECT. CONDUIT	\$0.15	\$45.00	1-2 WEEKS	\$0.15	\$45.00		\$0.13	\$39.90	1 week
300	EA	ELL, 1" 90 DEGREE STD RADIUS SCH. 80 PVC	\$2.26	\$678.00	1-2 WEEKS	\$1.86	\$558.00	stock	\$0.18	\$52.50	1 week
140000	FT	WIRE, 336.4 MCM AAC, BARE 0.666" DIAM, 0.316LB/FT, 19 STRAND "TULIP", 4,500FT ON WOOD REELS	.637/FT	\$89,180.00	7-9 WEEKS	\$0.58	\$81,200.00	6-8 weeks	\$0.55	\$77,000.00	6 weeks
TOTAL	TOTAL		\$104,857.80		\$97,728.25			\$89,996.45			
Tax (8.75%)	Tax (8.75%)		\$9,175.06			\$8,551.22			\$7,874.69		
TOTAL		\$114,032.86			\$106,279.47			<u>\$97,871.14</u>			

## Bid # Y202836 Results

		McFarland	Cascade	Bridgewel	II Resources		
Part Description	Quantity	Price per each	Price Total	Price per each	Price Total		
POLE, WOOD 55', CLASS H1, DOUGLAS FIR	1	\$1,620.00	\$1,620.00	\$2,089.00	\$2,089.00		
POLE, WOOD 70', CLASS H1, DOUGLAS FIR	2	\$2,753.00	\$5,506.00	\$2,991.00	\$5,982.00		
POLE, WOOD 70', CLASS H3, DOUGLAS FIR	2	\$3,478.00	\$6,956.00	\$3,837.00	\$7,674.00		
POLE, WOOD 70', CLASS H4, DOUGLAS FIR	1	\$3,849.00	\$3,849.00	\$4,372.00	\$4,372.00		
POLE, WOOD 75', CLASS H1, DOUGLAS FIR	11	\$3,056.00	\$33,616.00	\$3,331.00	\$36,641.00		
POLE, WOOD 75', CLASS H3, DOUGLAS FIR	13	\$3,840.00	\$49,920.00	\$4,337.00	\$56,381.00		
POLE, WOOD 75', CLASS H4, DOUGLAS FIR	3	\$4,257.00	\$12,771.00	\$4,980.00	\$14,940.00		
POLE, WOOD 75', CLASS H5, DOUGLAS FIR	4	\$4,719.00	\$18,876.00	\$5,579.00	\$22,316.00		
POLE, WOOD 80', CLASS H1, DOUGLAS FIR	2	\$3,501.00	\$7,002.00	\$3,791.00	\$7,582.00		
POLE, WOOD 80', CLASS H3, DOUGLAS FIR	12	\$4,372.00	\$52,464.00	\$4,768.00	\$57,216.00		
POLE, WOOD 80', CLASS H4, DOUGLAS FIR	4	\$4,875.00	\$19,500.00	\$5,496.00	\$21,984.00		
POLE, WOOD 80', CLASS H5, DOUGLAS FIR	3	\$5,355.00	\$16,065.00	\$6,119.00	\$18,357.00		
POLE, WOOD 85', CLASS H3, DOUGLAS FIR	4	\$4,951.00	\$19,804.00	\$5,386.00	\$21,544.00		
POLE, WOOD 85', CLASS H4, DOUGLAS FIR	2	\$5,509.00	\$11,018.00	\$6,022.00	\$12,044.00		
POLE, WOOD 85', CLASS H5, DOUGLAS FIR	13	\$6,036.00	\$78,468.00	\$7,082.00	\$92,066.00		
POLE, WOOD 85', CLASS H6, DOUGLAS FIR	1	\$6,659.00	\$6,659.00	\$7,502.00	\$7,502.00		
POLE, WOOD 90', CLASS H5, DOUGLAS FIR	2	\$7,134.00	\$14,268.00	\$7,793.00	\$15,586.00		
POLE, WOOD 90', CLASS H6, DOUGLAS FIR	3	\$7,743.00	\$23,229.00	\$8,460.00	\$25,380.00		
Total1	83		\$381,591.00		\$429,656.00		
Tax			\$33,389.21		\$37,594.90		
TOTAL			\$414,980.21		\$467,250.90		

Note: Only two vendors approved by City due to specifications requirements

